o 40[ 10 T \
- N PR i ]
L AAA Mo TR Anand r
WALDEN DAL [ l
oL Atmﬁa AALL A/" 1 351
O e, 29099 : 8- .
. 8 Q}@ ' 3.0 1
o 08 b i l
E 2‘5} J
« 5F E r 61 e
= 20k ]
> : 4
10F - r |
150
r s p i
15F - :
10F |
o) E N N B S B R B [o =Y A N R B L | . 2 | - L | -
00 02 04 06 08 10 05 1.0 15 2.0 25 30 5 10 15 20 25
phase ¢y H-K V—K
15.0= -
/_\14,5} ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, —]
doeo— —
g T . e e
1350= . it S L LS UL LU L B B L L S U AU LU gL
130 =
40 7
] = " e
EN T UG HH\HHHH HHHHHH\ HHHHHH\ TR
= (A A
o
w —20F— L
£ O 7
-4 ]
1.0 -
B o5 =
S - =
T os— —
s e =
8 04— —
] C 3
§ 02— —
00 ‘ ‘ ‘ - =
0 100 200 300 400
time [yr]
-88f ‘ ‘ ‘ ‘ ‘ ‘ ‘ ]
-86f Bk gy 9
-84k L : ] T s 2600 K
T -8z Cone s : 1.
Foop It 1 et TTTTTERRLTTETERVLVTTRTETRY gL 385 L
< —8ofF RN ! E 3 Mass 2.00 Mg
77,8; (=l o ! B E
f ° : ] 2 Ig(C-0) 8.50
-76F o ' eg ; E E
-74E g Ll ‘ 1 3 C/O 1.69
_75 ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ; =
F . ] ] Dy, 6 km/s
L o RC = 1.70 . R — 1 T:L 20
-7.0F ERL : 1 = 7
= L : 1 £ i class pp
g _.I 2P : 1 = . E
£ -850 ° o © ‘ 7% ik E
g 5 : 108 E
6ol R ! 1 s 3 No wind
—ss5l IR L ‘ ] -30E \ \ \ ‘ ‘ 2 Period 390.d = 1.068 yr
; ; ; ; ; ; ; 0.0010F § ; ; ; ; o 9 Rodivs 424 Ry
BB 404 [ 1 logg -0.51
DD DE B ;34:16 @ 0.0008 - - MMy, 1.095
ACIERLS o : ]
= ° oo, © 0.0006 =
2 oy © 5 r 1 Colour mean / min / max / range
= o 9o Kl t B-V) 240 218 2.98 0.80
> o 5 5 0.0004 1~ ] V—1) 2.97 251 399 1.48
5 g F 4 V—K 6.39 547 872 3.25
o m o L 7 J—H 0.94 080 1.25 0.44
£ o 0:0002¢ ] W—K) 160 1.41 212 071
[ ] H-K) 0.66 0.54 0.87 0.33
‘ ‘ ‘ ‘ 3 0.0000k ar]
353 355 382 384 355 360 365 370 375 385
time [yr] time [yr]

26@@

5.83




80
60
aQ
N
€ 40
=
2>
o
o
°
]
- 20
O
o
0]
-20
0
-5
e
O
S~
=
2>
‘©
g —10
o
o
°
—-15
3.0
2.5
2.0

condensation degree
»

0.5

0.0

6000

5000

4000

3000

Toes [K]

2000

1000

Note: Time increases downwards.
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Scales OK for last curve (bottom black)
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